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QUESTION 4 (25 MARKS)
Question 4 (a)

Call A the centre of circle .
(x—1)* +(y+6)" =360
Centre A(1, —6)

Radius r, = /360 = 6/10

MARKING SCHEME NOTES
Question 4 (a) [Scale 5B (0, 2, 5)]
2:  + Centre or radius

Question 4 (b) (i)

ForMuLAE AND TaBLES BOOK
Point dividing [Q)] in the ratio a:b
A

0, ©) P(X,. )

Co-ordinate geometry: Line [page 18]

Formurar asn Tanvrs Boow

Given equation
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S 2J10 =210 K(x.y) r,=2J10
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Co-ordinate geometry: Circle [papge 19]
Given centre (0, k) and tadius »

(x=h) +(y—k) -
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Question 4 (b) (i)

wemme K5 6)=(h k), r, = 210

Sguanon of 5.2 (x — ) +(—6) =210y
(x—-3y —(v—6)y =40
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Question 4 (b) (i) [Scale 10C (0. 4. 8. 10)]

4: = Jdemuifies centre
* 1demifias radiug

%: = Eguation of cire

iz formed but error in substitution

» E‘:ﬁﬂn i
o d o Formuiar axp Tasirs Book
- - Co-ordinate geometry: Line

(el eguanon of the common tangent.
Lme _’.‘::- 1s parpendicnlar 1o 7.

Fmdmg the slope from the eguation of
2 bine

liax+byr+c=0

by
(0, )]~ Plx,.y)

.y

a b
. x,, )
b a
0 I
. 12—(-6) oY
Slopz of 4B:m=—— =3
Ferd Slope of 'Q) [page 18]
Slopzofzr:m =-1 £
. m==4_ ]
Bguation of - B(7 12)=(x_yv). m= 1 | X~ X
ons BOod L7, 12)=¢4 % =4 ! _ 7 -
’ 1 y Equation of P'Q {page 18]
y—1R2=—2(x-7)

Y=y =m(x-x)

Musaawe Scaive NOTES
Qraemm 4 (c) |Scale 5C (0. 2.4. 5)]
22 =Slope 4B or slope of tangent
« Some comract substitution mto relevant formula
4: + Eguanion of line fully substituted

., Scanned by CamScanner




